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QUESTION 1

The following functions are defined: 

What does the console display after the following line? 

Printer(2); 

A. 210 

B. 211 

C. 2101 

D. 2121 

Correct Answer: B 

 

QUESTION 2

Which three items are benefits of encapsulation? (Choose three.) 

A. maintainability 

B. flexibility 

C. restricted access 

D. inheritance 

E. performance 

Correct Answer: ABC 

 

QUESTION 3

You need to create an application that processes data on a last-in, first-out (LIFO) basis. Which data structure should
you use? 

A. Queue 
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B. Tree 

C. Stack 

D. Array 

Correct Answer: C 

A stack implements LIFO. 

 

QUESTION 4

You are creating an application that accepts input and displays a response to the user. You cannot create a graphical
interface for this application. Which type of application should you create? 

A. Web-based 

B. Windows Service 

C. Windows Forms 

D. console-based 

Correct Answer: A 

 

QUESTION 5

A table named Student has columns named ID, Name, and Age. An index has been created on the ID column. What
advantage does this index provide? 

A. It reorders the records alphabetically. 

B. It speeds up query execution. 

C. It minimizes storage requirements. 

D. It reorders the records numerically. 

Correct Answer: B 

Faster to access an index table. 
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